Problam 5.3.9 | \/g

Lebk X3 ama 3XiEl,, Le lnaependant
Porssoun Proesses LR (s N aundd Ay
rsrechuly.
Q) Lek G and W deunote e ficst acnual
Nwes Lo 2X:% aund EXES rcsﬁuu%ua\y.
T ey UU.‘M&PLN) TV te) u\):‘fv f:x_p(}n_)
MaLpeindently. T,

V%)
ﬁ)cwi\\ 2 (/\)52\ ) . j \:P(UU?\< wt:\ | u)f%www‘)(w)du
(o] \
- TR« w) pwaw

= ;‘:(\ _é)\tw)/\ze:ﬁzwdw

3 = Mo O:O"(u"?.
- ™ TN dw
= \ N >\:L/(>\u+ 7\2)

= >‘l/(>‘1*>\1)-

\\)Ob\ Fowld rewewler Pws \Aet:) resull as
it is iwx\bo(kcmt for CTMCs.

&)



Problem S.3.9 /3

e
b) To Q\v\c\ e maulc ?@(‘ PCL(JC, b, U ouly

need Lew wnew calculatiouns. We shall
US€ SO\SOU-FV\ hwaes 0s grcm/\ TWeerewm S €
We \/\aue_ TUNAIEE O AT ouq*s“\ 33,
aid\ wl

1

(1\ TSm. Al Hae 3o Fiwags oure
i\/\c\o_(wmcum ciand ex_mvxu«h'a\\y A shnoukedd .

(Ve alse weed o SMow | MMa wx,emry(ﬁ—ss
P{OP@(+\/ Wit cundowma vanaloles TV\CdC, v

{P(ST\B*SL (\\S 45 )—\"P(SU) )
TWs can be showw as

. ( ) { (‘) (zy
PSP v ey <57 5, < s,
bo

() 2 o
I P(trsm <5 e <) £ de

It

(2) )
Plers <s, |t <3‘<2)%m (t) fb_m(g At ds

o\_—-\g OL—-—-,B

Plo < 3”) 0 () Lo (e ds
co

P(se< 5(?-) ) 7C < (s) i ‘Csf" () AL s

°=—-\g 0\-—'—\% Y P g

P(s<s! Q)%m ()ds ~ \P(347= 551\).

LLSM% Mese resudes |, we %e;t A resulk
ﬁlMP\Y ast



Problan, S.2.9 >/3

\ 7-) EAY
PCP <) = P8P s s2)

= WC5(OTS(0< 3 13 )\5(0 () <5 (?) (0 \'1))

"L !

HEREN s”\%m S ?(Sm Sy
—:—\?(5 PN S R N <57
RGP 20 5] 50 20 BLs< )

2 \
+(PC§®*5N m 5“‘\5‘ 5:\\>3(1\ .-> )S_‘ttﬁ)

% i

\P(%m () m‘sim Sim)\—\)("blm lm>

- 1 ‘P( 5 (\3 \ ) -\'PCSI(\) < S‘(z))
7o YP( (\\ (1\ ) ‘PCSL?_) 7 S;\\ 3 \‘Pc‘si(\) i 31L7.) )
« PO, si’ Syl R 50

(N 7O D)) O, Z(h» Mﬂ

Tt ()\ A 2.)) k)\i/()a )\z\) (>\| /(?\ + N L))
¥ WC5M (\\<gt13\ S() AS(L) )‘?CDM< 3,(_1)) ()\ /O\a *%1))

- (/0D = 0700 O/ i)
N .‘-P(S;\\< ,_D;-l\\ \PCﬁUM SL\) k}\l/ (>\ +}\1J)

= O Gumd) O /G O/ Oenn)
s (MO O/ O

= (/O (2 20m700en)))



